EARAROBEEIERT — 2 N— IBISH —F

2013F1H2H (k) 17EA%E3H

KW 3% — 9# 5% 3m (w8 | imEmml - |5 6) oo s
[AE4£] 1% :150,000  ~ 2% :3500MH  3%&:14,000”  437%:8,000H ~ 53 :5,000 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
SEILE kXY L] 5”1‘_:(');& 1:(2_6).4 1-1-1-1 [39.9| -— 1 432 %Elf’fﬁ'é (t£%)
QFosy b BVELLATYT 1 e et
- == . _Q_0_ _ A0
A ZIVEILTY L 43 ‘sr’éj-)@ 1.(226).8 2-3-2-2 | 40.0 2 469 ggﬁg;@fﬁﬂ)
R ARYIYRTIR B:OE—F D leysLy k77—n
LG YRS 4 3 Eif%*ﬁﬂ 1:(247).6 6-5-4-3 | 40.5| — 3 418 %Eg% (1£8)
R:ARYIFRYT—/ B:ZhNL R s
o &K TER : —~7-7- — BIEEE (58
OIS L 4 3 Sy 1.(228).0 7-7-7-6 | 40.4 6 (4_0:) it
L ZNAF¥ 21— B:Yyh—214H> DEAHTT— L
N AllliEF :28. —-8-8- . — ettt (1£%)
FUF P R—o Ry R I AR R ! (‘_‘j’ﬁ) FhEx
L:TNTFNT L2 Bi¥FECF-—F v TR BR
P L 2 4t 3 | BEX— 1:28.3 3-2-3-7 |41.5| — 8 408 | REE (1EH)
6177 TJIVIT T 1 A52.0 (74%) (-5) BOEN .
AL bTFr—)b B:TLIT Eld== I
B3 | AEHEE 1:28.4 4-4-5-4 | 41.3] — 7 456 | HIES (£R)
71818 774 F 56.0 (4 €) (-g) | BEXE
LvWHEAYX BT TIIN— o1 ®E EFE
4 3 | AKX 1:28.5 5-6-6-5 |41.1| — 5 466 | FEE (1£E)
gl11|FzV—-&>2X #53.0 (1/2) g |FOEA
Ry TELRAVF— B:Fzl)—N—/IN— 1= T7—L
@ 1—F—@&BIEf
13—7+— 6,4,7,8,1,5,2,3
Aol=5r= 6,7,4,8,5,1,2,3
Jo=3r= 6,4,7,5,8,1,2,3
43—+ — 6,4,5,8,1,2,7,3
[ RN
B OB 6 1504 714K 4-6 140H B E 4-6 260M &R 4-5-6 190H
8 B 6 100M 5-6 120M B H 6-4 340 JEH 6-4-5 630F
4 1204 4-5 190M
5 1204

ABICOVWTRDTEEERROODE. TR LIV,




